PLASTIGS GO, LTD

Professional manufacture and sale for plastic valves and pipe fittings




Z{F041 ¥4 Parts and Material




Chia nung,a

% 5% =l B R # #

1 fEmasiRE] 1 22 5

2 IETEE 1 5B

3 + & 1 T

4 2E 1 FaH

5 NnaRH 1 T

6 Gk 1 g

7 AZ2H 1 Tizsay

8 (T 1 S

9 I S 1 T8

10 Lo 1 TR

1 EELL 1 [=E3.]

12 T 1 TiEEEH

13 TFihoi= 1 TBIZE

14 HaRE 2 TES®E

15 HRENFEFIOE 2 THEgE

16 BENIRE TR 2 BT i

17 e 2 BN il

18 EE 2 Bin/Em

19 EEER 2 T8

20 & 2 TiEZEs

21 SEZEOH 2 THER

22 S 0~12 E i

23 iREOB 2 TEEE

24 -] 2 =i

25 i 8 i

26 PRATIER 2 iR

27 PRAIEED 2 ]
No. Description Qty STANDARD METERIAL
1 Indicator screw 1 plastic

2 Indicator 1 plastic

3 Spring clip 1 Stainless Steel

4 Thrust washer 1 Stainless Steel

5 Outside washer 1 engineering plastics
6 Body 1 Extruded alluminum alloy
7 Inside washer 1 engineering plastics
8 Cam 1 Alloy steel

9 0-ring (pinion top) 1 NBR

10 Bearing(pinion top) 1 engineering plastics
1 Pinion 1 Alloy steel

12 0O-ring pinion bottom) 1 engineering plastics
13 Bearing(pinion bottom) 1 NER

14 Plug 2 NBR

15 O-ring(Adjust screw) 2 NBR

16 Nut(Adjust screw) 2 Stainless Steel

17 Adjust screw 2 Stainless Steel

18 Piston 2 Cast alluminum/casting
19 Guide(Piston) 2 engineering plastics
20 Bearing(Piston) 2 engineering plastics
21 O-ring(Piston) 2 NBR

22 Spring 0~12 Spring steel

23 0O-ring(End cap) 2 NBR

24 End cap 2 Cast alluminum

25 Cap screw 8 Stainless Steel

26 Stop screw 2 Stainless Steel

27 Nut(stop screw) 2 Stainless Steel

e ——

|

FoREE

BESLE

Ffi

| ib/aEe

P

MRITZES

PROTECTION

Hard anodized etc

Nickel plated

anodized/Zinc galvanized

dip coating

powder polyster painted etc

e

oER R

SiRB/EE
e

2RRB/DEE

AR/ RE
aRRE/moeE

A e

aRR/YRE

ARR/DEE

OPTIONAL METERIAL

Viton/Silicone
Stainless Steel
Viton/Silicone

Viton/Silicone
Viton/Silicone

Stainless Steel

Viton/Silicone

Viton/Silicone



Chia hunglPy

e —————————

4B R ~F Dimension

HHETE
Versa View AL AR

Cont inuous Namur
Indicataor Hounting

|
|

77>

0

/———Y

Bi-Directional
Stroke
Ad justment

i

Namur
Wanifold
NAML RIS 22 HL

Stainless
Stael
Fasteners

FRERSH

150
Mount e

1T,

G1/2° NAMUREESE

7l i S S - i K L MR T Aiftﬁ?}lﬁgﬁ s
CHO32 24 24 46 45 65 47 30 50 oO21 ®50 M5X8 M5X10 9 12 123 @©40 MNAMURG1/8"
CHO40 24 34 60 63 &3 49 30 50 @36 ©50 M5X8 MeXx10 11 15 123 ©40 NAMURG1/8"
HOS2 30 415 655 72 92 65 30 80 36 050 MSX8  M6X10 11 14 147 ©40 NAMURGL/4"
CHO63 36 47 81 875 1075 72 30 80 050 ©70 M6X10 M8X13 14 18 168 ©40 NAMURGL/4°
CHO75 42 53 94 995 1195 81 30 80 ©50 ©70 MEX10 ME8X13 14 18 184 @40 NAMURGL/4"
(HOS3 46 57 985 1087 1287 92 30 80 50 O70 M6X10 MSX13 17 21 204 ©40 NAMURGL/4"
CH092 50 585 111 1165 1365 98 30 80 ©50 ®70 MeX10 MBX13 17 21 262 @40 NAMURGL/4"
CH105 575 64 1225 133 153 1095 30 80 ©70 @®102 MBX13 M10X1e 22 26 268 ©40 NAMURGL/4"
CH125 67.5 745 1455 155 175 1275 30 80 @70 @102 MBX13 M10X16 22 26 301 @55 NAMURGL/M4"
(H140 75 77 161 172 192 1375 30 80 ©102 ©125 MI10X16 MI12X20 27 31 390 ©55 NAMURGL/A"

CH160 87 87 184 197 217 158 30 80 ©102 @125 MI10X16 M12X20 27 31 458 @55 NAMURG1/4"

CH1%0 104 103 213 230 260 189 30 130 @ 140 M16X25 36 40 525 @®@8 NAMURG1/4"
CH210 113 133 2355 255 285 210 30 130 140 M16X25 36 40 532 @©80 NAMURGL/4*
CH240 130 130 2645 289 319 245 30 180 @165 M20X25 46 50 602 ®80 NAMURG1/4"
CH270 147 147 299 326 356 273 30 130 @165 M20X25 46 50 722 &80 NAMURG1/2"

M—_




Chia hung,®

€8);54] Double Acting Actuators

CCw

0° a0°
AR - BfamESREmMIMNES) - S8
Féthirds0°—907, BOHR -
BER BEZRAKEEEAANED - F558 HahE
FrithiEE(90°—~0), ACHER °
Air to Port A forces the pistons outwards, causing the pinion
to turn counterclockwise while the air is being exhausted
from Port B.
Air to Port B forces the pistons inwards, causing the pinion to
turn clockwise while the air is being exhausted from PortA.

Ccw
= - ﬁJ
€& B
- I | o o e
1 i - |
] | |
A B A B
0° 90°
AR  BEZTREEEERINES - FRL#H HEIR

K¢t iz (0"~90°), BOHER -

B[S BT/ KEERAAESD - R HEYT
Ky gt (90°—~07), ACHE -

Air to Port A forces the pistons outwards, causing the pinion
to turn clockwise while the air is being exhausted from Port B.
Air to Port B forces the pistons inwards, causing the pinion
to turn counterclockwise while the air is being exhausted
from Port A.

S E))SEH D% Output Torque of Double Acting Actuators (Unit: Nm)
Model Air supply pressure (Unit: Bar)ig \ 8RB D(F£6: . &)
B 2 25 3 4 4.5 5 5.5 6 7 8

CHO52DA 8.0 10.0 12.0 16.0 18.0 200 21.9 23.9 279 31.9
CHO63DA 14.6 182 219 29.2 328 36.5 40.1 43.8 51.1 58.4
CHO75DA 20.1 25.1 30.1 40.1 451 50.2 55.2 60.2 70.2 80.3
CHO83DA 314 39.2 47.0 62.7 70.5 78.4 86.2 94.1 109.7 125.4
CHO92DA | 45.1 56.4 67.7 90.3 1016 1129 1241 135.4 158.0 180.6
CH105DA 66.1 82.7 99.2 1322 148.8 165.3 181.8 198.4 231.4 264.5
CH125DA I 100.3 125.4 150.5 200.6 225.7 250.8 275.9 301.0 3511 401.3
CH140DA 171.0 213.8 256.5 342.0 384.8 427.5 470.3 513.0 598.5 684.0
CH160DA 266.0 3325 399.0 532.0 598.5 665.0 7315 798.0 931.0 1064.0
CH190DA 425.6 532.0 638.4 851.2 957.6 1064.0 1170.4 1276.8 1489.6  1702.4
CH210DA ' 532.0 665.0 798.0 1064.0 1197.0 1330.0 1463.0 1596.0 1862.0 2128.0
CH240DA  769.5 961.9 11543 15390 17314 19238  2116.1 2308.5 2693.3  3078.0
CH270DA 1169.6  1462.1 17545 23393 26317  2924.1 32165  3508.9 40937  4678.6

o2/ kil gp:Sick

HEIEFRERET » SBREZEHLDEER 20%-30%.

)

«# P9 =100Nm ‘ Output Output Torque of

#R 2 NHE=100%(1+30%)=130Nm Torque Double Acting Actuators

R IR ]=5Bar WHNE  espsiast s

HEREBR NER  BRSEHRE S/)\R#EFART160DA.
Sizing: Double Acting Actuator
The suggested safety factor for double acting actuators under normal
working conditions is 20%-30%.
Example:

sThe torque needed by valve=100N.m Rotation
« The torque considered safety factor (1+30%)=130N.m TR
—

sAir Supply=5Bar
According to the above table, we can choose the minimum model is RT160DA.




Chia hungy,

Alrprassure | 2.5Bar

spiing 0°  90°
Model 9 Start  End
E# mE B ER

5 57 | 38

6 49 25

7 40 13
CHoszsk 8

9

10

1

| 12

5 114 7.7

6 101 57

7 86 36
CHO6ISR  °

9

10

1

5 145 106

6 124 76

7 104 48
CHOTSSR g

9

10

1

12

5 233 16.1

6 201 115

7 170 69
CHOB3SR 8

9

10

11

12

5 331 220

6 284 15.2

7 238 8.2
CHO925R 8

9

10

1

12

5 510 334

6 447 235

7 384 137
cHiossr 8

9

10

1

12

S (Unit: Nm)
aﬁﬁﬂﬁﬂj izl Output Torque of Spring Return Actuators
ﬁﬁﬁﬂﬁﬁﬁﬁﬂjﬂﬁ Output torque of air to lpringi Springs’ output
3Bar 4Bar SBar 6Bar 7Bar 8Bar AR DR
0°  90° o 90° 0° 90° 0° 90° 0° 90° 0 90° 90° 0°
Start End Start End Start End  Start End Start End Start End Start End
PitE &R e #=x BRaR =R i HE BRks R Ptk R B &R
76 57 62 43
69 45 109 85 74 50
60 33 98 73 140 104 8.6 59
52 20 92 60 132 91 172 144
43 08 83 48 123 163 128 203 16.8
7.4 155 116 195 156
6.6 146 104 186 143 226 183
138 91 178 122 218 174
150 1.4 223 ' '
136 93 209
125 7.2 195 ; 7 X
109 51 182 124 255 19.8 328 27.0 401 343
16.8 31.4 249 387 322
14 228 6 300 228 373 301 447
215 135 287 207 360 280 43.3 353
. 200 1.4 273 186 346 259 419 333
19.4 155 295 25.7 ' ' '
173 126 274 227 375 32.8
152 97 253 199 354 299
131 68 231 169 333 270 432 370 533 47.0
21.0 14.1 3.2 24.1 ana 34.1 51.2 442
19.0 ; | 390 312 491 412 591 512 | 2
270 183 370 283 470 384 570 484
249 154 349 254 449 354 549 454
311 240 468 39.7 ' ' '
280 193 437 351 594 507
248 148 405 30.5 562 46.2
21,7 101 374 258 531 415 688 57.2 845 729
342 213 499 37.0 656 526 812 683
3110 166 624 480 781 637 938 793 | 460 316
59.3 434 750 59.1 90.6 74.8 50.6 348
561 389 717 545 87.4 702 552 38.0
44.2 332 668 559 ' ' ' 344 233
396 264 622 490 848 716 41.2 280
349 194 57.5 42.1 80.2 64.7 48.1 32.7
313 126 529 352 755 579 981 805 1207 103.0 550 37.3
482 284 709 51.0 935 736 1160 96.1 61.9 420
436 215 . 667 1113 892 1340 111.8 | 687 467
61.5 372 841 599 1066 82.4 129.2 1050 75.6 51.4
568 304 79.4 53.0 101.9 755 1245 98.1 82.5 56.0
67.5 49.9 1006 83.0 ' ' 492 316
61.1 400 942 732 1273 106.2 59.1 38.0
549 303 879 634 121.0 964 68.9 443
485 204 816 535 1147 865 1477 1196 180.8 152.7
753 437 1084 768 1415 109.8 1745 142.9
68.9 334 | 1351 99.6 1682 1326 201.2
957 570 1287 901 1618 123.1 1948 1562 1083 69.6
89.4 475 1225 80.6 1555 113.6 188.6 1467 118.1

75.9




Chia hung#®y

BESE e Odtput Tm;qu-e of Spring Return Actuators

S AR E ML 7% Output torque of air to springs

Nroesswe | 2a8 3Bar
sping 0° 90° 0°  90°
. LY Start End Start End
MR g PO BR AR &%
5 |73 |47 | 98 | 72
6 63 31 8 56
7 | sa|1 | 77 | #
CH125sR B 67 25
9
10
1
12
s | 128| 85 | 171 | 127
6 111 59 154 102
7 | 94 |33 | 137 | 78
CH140SR 8 120 50
9
10
1
12
5 193 124 259 191
6 165 83 232 149
7 | 137 | @ | 203 [ 107
8 176 66
CH160SR
9
10
1
12
s 332 222 438 329
6 292 161 398 267
7 252 99 358 205
CHI90SR 8 318 143
9
10
n
12 _
5 390 285 523 418
6 335 209 468 342
7 280 133 413 266
CH210SR 8 358 190
9
10
1
12 _
5 552 409 744 600
6 470 297 662 489
7 388 187 580 379
CH240SR : 98 268
10
1
12
5 903 675 1195 968
6 790 519 1083 811
7 679 361 972 654
c27osk 8 860 | 497
9
10
1
12

4Bar

o° 90"

Start End
G HER
148 122
138 107
127 90

117 75

107 59

96 aa

256 213
239 187
222 162
205 136
187 110
170 84

392 324
365 282
336 240
309 199
280 157
253 115
651 542
611 480
571 418
51 356
491 295
451 233
789 684
734 608
679 532
624 456
569 380
514 304
1129 985
1047 874
964 764
883 653
800 542
718 431
1779 1552
1667 1396
1556 1238
1444 1081
1332 923
1220 767

0°

Start
R

188
178
167
157
146
136
125

325
308
291

_273

238

22

498
469
442
413

358
330

824

5Bar
wv
End
BR

157
11
125
109
o4
78
63

273
247
221
196

143
118

415
373
237
290

207
165

693
631
569
507

384
322

874

6Bar

o° 90°

Start End
s HE
217 176
207 159
196 144
186 128
176 113
376 307
358 281
£ 255
324 229
307 203
575 465
546 423
519 381
491 340
463 298
957 782
917 720
877 658
837 597
797 535
1156 988
1101 912
1046 836
991 760
936 684
1652 1422
1569 131
1488 1201
1406 1090
1323 979
2614 2252
2502 2094
2390 1937
2278 1779
2167 1623

0°

Start
R

268
257
247
236
226

462

427
409
392

708
679
652
624
596

1169
1130
1090
1050
1010

1422
1367
1312
1257
1202

2037
1954
1872
1791
1708

3199
3087
2974
2862
2751

7Bar
90°
End
SR

226
210
194
178
163

392
367
340
314
289

598
556
514
473
431

995
933
871

748

1254
1178
1102
1026
950

1807
1696
1586
1474
1363

2836
2678
2521
2364
2207

8Bar
0° 20°

Start End
Rt ER

297
286
276

245
228
213

512
495
478

426

374

785
757
729

647
606
564

1302
1263
1223

1084
1022

1578

1523
1468

1368

1292
1216

2257
2176
2093

1859

3560
3448
3336

2949
2792

1970

1748

3107 |

(Unit: Nm)

Springs' output

BEHHNE
90° 0
Start End
B R

72 | 52

94 63

110 73

125 84

141 94

157 105

173 115

188 125

129 86

155 103

181 120
206 137
232 155
258 172

284 189

310 206

208 140

250 168

292 196
333 223

375 251
av

458 307

500 335

309 200

371 240
433 280
495 320
557 360
618 400
680 440

742 480

380 275

456 330

532 385
608 440

684 495
760 550

836 605

912 660
554 410
665 492
775 575
886 656
998 739
1219 903
1330 985
787 560
943 672
1101 783
1258 895
1416 1007
1730 1231
1887 1342



Butberfty w;r; i
Flug vaive .I.m\‘\\-\___xl'ﬁ -—’/ 1 5 I{‘Fﬂ“g
i e EASEANERREREERRATREMN R0 uN,
T [ g
S BRIREN25E - BAARENSE o
Openﬁgxoﬂ Onera:ng!ﬁeuﬁ cmuo 3 MRREEE 5% 5%
p_— B -200~+807T
R AHSE-104N.m ﬁfi'i'li -35C~+80C
T4 5 104%30%=32N.m BB -150T~I501C
BB H=5Bar 4, TREG
LR IERT2555R K11 mﬂWﬁﬁﬁEﬁiS a
EITE0°=136N.m>104N.m _
72417 1290°=78N.m>32N.m etk
HEITEI0=173N.m>32N.m 5. FREE
HETRE0°=115N.m>104N.m BRS TR
30 B A T S 2 MBI I 2
B {Ef21 Operating Type

mﬁﬂlﬁﬂi Spnng return and Double Acting

R e S N

& EAINAMURER 2 fE L B2 L BF4R
HLEH - AIEARMCRARE - EfiRERE
ﬁEEDﬁANAMURﬁ!}@ AIRRE EANRE -

BRI EURE - The Namur drive pinion and the Namur
Air supply connection is designed in top mounting connection permit direct
accordance with NAMUR Standard to installation of accessories such as limit
install solenoid valves. switch box and positioner.

EQFIY  SEEORESRELRSE |0
BT - SRR SRR o ﬁ@HQ:
Each actuator is marked with a serial number,
air connection and bottom mounting holes
are marked for easy track and distinction.

#X10- SPﬁNF

B L {FHifi{&# Operating conditions

1.0perating media

Dry or lubricated air, or the non-corrosive gases

The maximum particle diameter must less than 30 vm
2. Air supply pressure

The minimum supply pressure is 2.5 Bar

The maximum supply pressure is 8 Bar

3.0perating temperature

Standard:-20C~+80°C

Low temperature:-350~+80C

High temperature:-15C~+150C

4.Travel adjustment

Have adjustment range oft 5°for the rotation at ¢ and 90°
5.Application

Either indoor or outdoor

EEZEARASIS05211,
DIN3337 &% . AILIHEREBAS
(REF )R+ 2L o

Bottom mounting connection is
designed in accordance with 1505211
and DIN3337 standards for direct
mounting with valve gear boxes or
mounting brackets.

VACBPT -

Hi3

FEIPIENIRS | EIREIRERRE




